BUSTIN PLATFORMS  TAP200A PLATFORM PARTS MANUAL

Bustin TAP200A
Platform
Parts Manual

6800 East 163rd Street ¢ Belton, MO ¢ 800-827-3692

Copyright © 2017. All Rights Reserved.
SA':E FLEET FM-8.5-2008 / A / 07-15-17
Truck & Trailer



>>

Table of Contents

Serial NUMDEr LOCALION .....uuviiiiiieiiiiiiiiiiie e 3
Label Kit, TAP200A ...ttt ettt e s 4
ClEVIS PIN e 5
Flat SPring Kit ..o s 6
PUIL STrap Kit ... e 7
StAIrS Kit, TAPZ200A ..ottt e e e e e e e e eanas 8
STOP SCrEW Kil ..iieeiiiiiiiiiie ettt e e e e e e e e e e e eees 9
Y (0] o RS T =1LV | 10
THE Bar Kit, STAIIS ouiniiniiii ettt r e e e e e e renss 11
Tread Kit ..o 12

6800 East 163rd Street ¢ Belton, MO ¢ 800-827-3692

Copyright © 2017. All Rights Reserved.
SAFE FLEET FM-8.5-2008 / A / 07-15-17
Truck & Trailer



>>

Serial Number Location

PLEASE NOTE:
Be sure to check the Serial Number before ordering parts.

Serial number located on the front left corner of the platform

6800 East 163rd Street ¢ Belton, MO ¢ 800-827-3692

Copyright © 2017. All Rights Reserved.
SAFE FLEET FM-8.5-2008 / A / 07-15-17
Truck & Trailer



>>

>
Sl a|w
=)
o
0
sz |¥
= | 2
.me_m
o Z
912130
m ol | F
< S 5|83
(@) R%mc
o o
AN e
ol =
< a
= <
(@]
o S
b Z
= <
AV S
— ...H_#
Q X | 2] a| «
®) o | O
(qv] .mn
| 1

Copyright © 2017. All Rights Reserved.
FM-8.5-2008 / A / 07-15-17

6800 East 163rd Street ¢ Belton, MO ¢ 800-827-3692

FLEET
Truck & Trailer

SAFE



>>

Clevis Pin

Clevis Pin, Part No. R04345

ltems # Part Description Quantity
1 CLEVIS PIN ZP 75" X 4-3/4” USABLE W/ 1/8” CP 2
2 SPACER PIPE - ALUMINUM 2
3 1/8” X 1-1/4” HAMMER LOCK COTTER PIN 2

SAFE

FLEET
Truck & Trailer

6800 East 163rd Street ¢ Belton, MO ¢ 800-827-3692
Copyright © 2017. All Rights Reserved.
FM-8.5-2008 / A / 07-15-17



>>

Flat Spring Kit

Flat Spring Kit, Part No. R04346

ltems # Part Description Quantity
1 SPRING LATCH 1
2 BOLT HHCS 1/4”-20 X 1-1/2” 18-8 SS 2
3 NUT HEX LOCK NYLON INSERT 1/4”-20 18-8 SS 2

SAFE

FLEET
Truck & Trailer

6800 East 163rd Street ¢ Belton, MO ¢ 800-827-3692
Copyright © 2017. All Rights Reserved.

FM-8.5-2008 / A / 07-15-17



>>

Pull Strap Kit

Pull Strap Kit, Part No. R04347

ltems # Part Description Quantity
1 TIE BAR 1
2 NYLON PULL STRAP 1
3 WASHER FLAT 3/°8 USS 18-8 SS 2
4 BOLT HHCS 3/8”-16 X 1.0 18-8 SS 2
5 NUT HEX LOCK NYLON INSERT 3/8”-16 18-8 SS 2

6800 East 163rd Street ¢ Belton, MO ¢ 800-827-3692

Copyright © 2017. All Rights Reserved.
SAFE FLEET FM-8.5-2008 / A / 07-15-17
Truck & Trailer



>>

Stairs Kit, TAP200A

Stairs Kit, TAP200A, Part No. R04348

ltems # Part Description Quantity
1 STAIRWAY ASSEMBLY 1
2 CLEVIS PIN ZP 1/2” X 4-3/4” USABLE W/ 1/8” CP 2
3 SPACER PIPE - ALUMINUM 2
4 1/8" X 1-1/4” HAMMER LOCK COTTER PIN 2

6800 East 163rd Street ¢ Belton, MO ¢ 800-827-3692

Copyright © 2017. All Rights Reserved.
SAFE FLEET FM-8.5-2008 / A / 07-15-17
Truck & Trailer



>>

Stop Screw Kit

Stop Screw Kit, Part No. R04349

Items #

Part Description

Quantity

1

BOLT SHCS 1/27-13 X 3/4” 18-8 SS 2

SAFE

FLEET
Truck & Trailer

6800 East 163rd Street ¢ Belton, MO ¢ 800-827-3692
Copyright © 2017. All Rights Reserved.
FM-8.5-2008 / A / 07-15-17



>>

Stop Screw Kit

Stop Screw Kit, Part No. R04370

ltems # Part Description Quantity
1 BOLT SHCS 1/2”-13 X 1.0 18-8 SS 2
2 WASHER SPLIT LOCK 1/2” 18-8 SS 2

SAFE

FLEET
Truck & Trailer

6800 East 163rd Street ¢ Belton, MO ¢ 800-827-3692
Copyright © 2017. All Rights Reserved.
FM-8.5-2008 / A / 07-15-17



>>

Tie Bar Kit, Stairs

®

>
4
5

Tie Bar Kit, Stairs, Part No. R04344

ltems # Part Description Quantity
1 TIE BAR 1
2 3/8” FLAT WASHER 2
3 BOLT HHCS 3/8”-16X1.0 18-8 SS 2
4 NUT HEX LOCK NYLON INSERT 3/8”-16 18-8SS 2

6800 East 163rd Street ¢ Belton, MO ¢ 800-827-3692

Copyright © 2017. All Rights Reserved.
SAFE FLEET FM-8.5-2008 / A / 07-15-17
Truck & Trailer



>>

Tread Kit

Tread Kit, Part No. R04350

ltems # Part Description Quantity
1 STAIR TREAD SUB ASSEMBLY 1
2 1/2” DIA. PIVOT ROD FOR TAP200 STAIRWAY 1

6800 East 163rd Street ¢ Belton, MO ¢ 800-827-3692

Copyright © 2017. All Rights Reserved.
SAFE FLEET FM-8.5-2008 / A / 07-15-17
Truck & Trailer



